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Question 1

Natalka’s total utilities from consuming various quantities of summer hats (H) and candies (C) are provided in the table below (you may use the empty columns for your calculations).

	Hats (H)
	Total Utility
	
	
	Candies (C)
	Total Utility
	
	

	0
	0
	
	
	0
	0
	
	

	1
	100
	
	
	1
	50
	
	

	2
	190
	
	
	2
	95
	
	

	3
	270
	
	
	3
	135
	
	

	4
	340
	
	
	4
	170
	
	

	5
	400
	
	
	5
	200
	
	

	6
	450
	
	
	6
	225
	
	


Price of one hat is 50 hryvnas. Price of one pack of candies is 20 hryvnas. Natalka is planning to spend 300 hryvnas on both goods. Her optimal choice is

A. 4 hats and 4 packs of candies.

B. 5 hats and 3 packs of candies.

C. 3 hats and 5 packs of candies.

D. 6 hats.

E. None of the above.

Question 2
The most important determinant of price elasticity is

A. the slope of the demand curve.

B. the availability of substitutes.

C. the price of other goods.

D. the income of the consumer.

E. the price of complements.
Question 3
In the diagram below, which represents the domestic market for white sugar, the initial equilibrium is at the intersection of S1 and D1. Suppose that the government decides to impose restrictions on the exports of domestically produced sugar, and, at the same time, consumers become more health conscious and many of them start favoring brown sugar instead of white sugar. Then, ceteris paribus, the new equilibrium will most likely be at the intersection of 
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A. S2 and D1
B. S1 and D2
C. S2 and D2
D. S3 and D2
E. S3 and D3

Question 4

When average total cost rises from 10 hryvnas to 30 hryvnas as total production rises from 100 to 300 units, average variable cost

A. cannot be calculated.

B. equals 10 hryvnas.

C. equals 20 hryvnas.

D. equals 30 hryvnas.

E. equals 40 hryvnas.

Question 5
Which of the following is not true?
A. A monopolist typically seeks to maximize profits.

B. A monopolist sets price as high as possible.

C. A monopolist may engage in advertising.

D. Monopolists price on the elastic portion of their demand curves.

E. Profits are not guaranteed even if the firm is a monopolist.

Question 6

One of the differences between a perfectly competitive firm’s long-run equilibrium and the long-run equilibrium of a monopolistically competitive firm is that (LR=long-run, SR=short-run):

A. LRMC = MR under perfect competition, but not under monopolistic competition.

B. SRAC = LRAC under perfect competition, but not under monopolistic competition.

C. SRMC = LRMC under perfect competition, but not under monopolistic competition.

D. LRAC = LRMC under perfect competition, but not under monopolistic competition.
E. economic profits are zero under perfect competition, but not under monopolistic competition.

Question 7

Producer surplus is defined as 
A. Opportunity cost minus total revenue.

B. Total revenue minus opportunity cost.

C. The difference between the price of a good and the minimum amount that a producer is willing to accept for it. 

D. The difference between the value that consumers place on a good and the price they pay

E. The sum of external costs and benefits

Question 8

If a market for a good is producing a positive externality, 

A. at the market output the marginal costs to society exceed the private marginal costs of production.

B. at the market output the marginal benefits to society exceed the private marginal costs of production.

C. at the market output the marginal costs to society exceed the total benefits to society.

D. at the market output the private marginal costs of production exceed the marginal costs to society.

E. at the market output the marginal costs to society exceed the marginal benefits to society.
Question 9

The elasticity of demand for housing is known to be 1.0, and the elasticity of supply is known to be 2.0. The government places a price ceiling on housing prices. Suppose that the initial quantity of housing is 100 000 and that the price ceiling is 20% below the equilibrium price. Predict the size of the housing shortage.

A. 10 000

B. 20 000

C. 60 000

D. 80 000

E. 100 000

Question 10
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If marginal revenue is equal to P2, all of the following statements are true EXCEPT:

A. Total revenue will exceed total costs.

B. The firm will produce Q2 units of output.

C. The firm will produce the efficient level of output.

D. The firm will earn a normal profit.

E. The firm will increase production in the long run.

Question 11

If people have rational expectations, a monetary policy expansion that is announced and is credible is likely to 

A. increase inflation with little or no decrease in unemployment. 

B. increase inflation but it would decrease unemployment by an unusually large amount. 

C. increase inflation with little or no increase in unemployment. 

D. reduce inflation but it would increase unemployment by an unusually large amount. 

E. have no effect on inflation and unemployment.
Question 12
Which of the following events will lead to a decrease in the nominal demand for money (cash)?

A. An increase in the level of aggregate output.

B. A decrease in the price level.

C. A decrease in the interest rate.

D. A decrease in the supply of money.

E. An increase in the unemployment rate.

Question 13
To calculate the unemployment rate, which of the following are necessary pieces of information?

I. the number of unemployed persons

II. the population

III. the number of people in the labor force

IV. the working age population

A. I and II 

B. I and III 

C. II and III

D. I, II III and IV 

E. I and IV
Question 14

If a bank has deposits of $100 000, loans of $120 000, cash on hand of $5 000, and $15 000 on deposit at the Central Bank, then its reserve ratio is:

(a) 4,3%

(b) 5%

(c) 10%

(d) 15% 

(e) 20% 

Question 15

Assume the economy is initially at full employment with stable prices. Next, two things occur: (1) businesses' expectations become less optimistic, and (2) consumers decide to save more. To maintain stable prices at full employment, appropriate discretionary fiscal policy would consist of 

A. doing nothing as the two occurrences offset each other. 

B. equal amounts of tax increase and government spending increase. 

C. a tax increase and/or government spending decrease. 

D. a tax reduction and/or government spending increase. 

E. a decrease in the money supply and increase in government spending. 

Question 16

Suppose the market basket consists of 20 units of good X, 10 units of good Y, and 30 units of good Z. Current-year prices are 1.00 for each unit of X, 1.50 for each unit of Y, and 2.50 for each unit of Z. Base-year prices are 1.00 for each unit of X, Y, and Z. What is the approximate Consumer Price Index (CPI) in the current year?

A. 100

B. 167

C. 183

D. 213

E. 230

Question 17

The purchase of government bonds by the National Bank of Ukraine from commercial banks is predicted to 
A. decrease reserves of the commercial banks, and eventually lead to an expansion of the money supply. 

B. decrease reserves of the commercial banks, and eventually cause a contraction of the money supply. 

C. increase reserves of the commercial banks, and eventually cause a contraction of the money supply. 

D. increase reserves of the commercial banks, and eventually cause an expansion of the money supply. 

E. none of the above.
Question 18

Suppose that the marginal propensity to consume is 0.75, and investment spending increases by UAH 10 billion. The increase in aggregate demand is:

A. UAH 17.5 billion, composed of UAH 10 billion in investment spending and UAH 7.5 billion in consumption.

B. UAH 40 billion, composed of 10 billion in investment spending and UAH 30 billion in consumption.

C. UAH 10 billion, the amount of investment spending.

D. UAH 7.5 billion, composed of UAH 10 billion in investment spending and a decrease in consumption of UAH 2.5 billion.

E. UAH 2.5 billion, composed of UAH 10 billion in investment spending and a decrease in consumption of UAH 7.5 billion.

Question 19

Automatic stabilizers in the economy include which of the following?

I. A progressive personal income tax.

II.
A regressive personal income tax.

III. Unemployment compensation.

IV. Discretionary fiscal policy.
A. I and II only.

B. II and III only.

C. I and III only.

D. I and III and IV only.

E. Some other combination of I, II, III and IV.

Question 20

According to the long-run Phillips Curve, which of the following is true?

A. Unemployment increases with an increase in inflation.

B. Unemployment decreases with an increase in inflation.

C. Increased automation will lead to lower levels of structural unemployment in the long run.

D. Changes in the composition of the overall demand for labor tend to be deflationary in the long run.

E. The natural rate of unemployment is independent of monetary and fiscal policy changes that affect aggregate demand.
1. E

2. B

3. D

4. A

5. B

6. D

7. C

8. D

9. C

10. C

11. A

12. B

13. B

14. E

15. D

16. C

17. D

18. B

19. C

20. E
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